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III YEAR — V SEMESTER

Major Paper XII- X — FINANCIAL MANAGEMENT
Time : 3 hours
Max. Marks : 75
SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions
1. Define Financial Management.

2. What is Capital Structure?

3. Write a short note on “Cost of Equity Capital.”
4. How will you compute cost of retained earnings?

5. List out the importance of capital budgeting.

6. Write a short note on “IRR” method.

7. What is Dividend?

8. List out the types of dividend policy.
9. Define dividend policy.

10. What is Working Capital Management?

11. Write a short note on “Operating Cycle”.

12. What are the Long-Term sources of working capital?
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions
13. Discuss in detail, the functions of Financial Management.

14. What is cost of capital? Explain its importance.

15. List out the criteria of Investment Evaluation of Capital Budgeting.
16. Discus in detail  the types of  Dividends.

17. What are the determinants of Working Capital requirements?

18. Income statement of PRP.Co., Ltd., is given below:
	
	       `

	Sales
	10,50,000

	Variable Cost
	  7,67,000

	Fixed Cost
	     75,000

	EBIT
	  2,08,000

	Interest
	  1,10,000

	Tax
	     29,400

	Net Income
	     68,600

	No. of equity Shares 
	       4,000


Calculate:


(a)
Operating leverage

(b)
Financial leverage

(c)
Combined leverage

(d)
Earnings Per Share (EPS)

19. 
A company proposing to expand its production can go in either for an automatic machine costing `2, 24,000 with an estimated life of 
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years or an ordinary machine costing `60,000 having an estimated life of 8 years. The annual sales and costs are estimated as follows:

	
	Automatic Machine
	Ordinary Machine

	
	              `
	      `

	     Sales
	         1,50,000
	1,50,000

	Costs:
	
	

	     Material
	             50,000
	   50,000

	     Labour
	             12,000
	   60,000

	    Variable Overheads
	             24,000
	   20,000



Compute the comparative profitability of the proposals under the pay back method. Ignore Income-tax.
SECTION C — (2 × 15 = 30 marks)

          Answer any TWO questions
20. What are the factors to be kept in mind while determining the capital structure of a firm?
21. Explain the determinants of  Dividend Policy of a company?

22. 
The Alpha Co. Ltd., is considering the purchase of a new machine. Two alternative machines (A and B) have been suggested, each having an initial cost of `4,00,000 and requiring `20,000 additional working capital at the end of 1st year. Earnings after taxation are expected to be as follows:
	year
	       Cash inflows

	
	Machine A
	Machine B

	
	       `
	     `

	1
	   40,000
	1,20,000

	2
	1,20,000
	1,60,000

	3
	1,60,000
	2,00,000

	4
	2,40,000
	1,20,000

	5
	1,60,000
	   80,000


The company has a target of return on capital of 10% and on this basis, you are required to compare the profitability of the machines and state which alternative you consider financially preferable?

Note:
The following table gives the present value of `1 due in ‘n’ number of years:

	Year
	1
	2
	3
	4
	5

	P.V. factor @ 10 %
	0.91
	0.83
	0.75
	0.68
	0.62


23. 
Peerless Co Ltd., is engaged in customer retailing. You are required to forecast their working capital requirements from the following information.

	Projected annual sales
	` 6,50,000

	% of Net Profit  to cost of sales
	25 %

	Average credit allowed to debtors
	10 weeks

	Average credit allowed by creditors
	4 weeks

	Average stock carrying (in terms of sales     requirement)
	8 weeks


Add 20% to allow for contingencies.
____________
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